
2131, M18R 
Part Number 29834-793

Qty Part Number Description

4 39233-820 10 1/2" x 4 3/16" x 5/8" Babbit Knives 
- 4 Bolt

16 22424-407 Bolts

1215, 1415, M12R, M12RX, Model 13, 2070
Part Number 29834-799

Qty Part Number Description

2 39233-692  10 1/2" x 5"x 1/2" DE Knives - 4 Bolt

8 22424-404 Bolts

® MORBARK KNIFE KITS
All kit components come in a SharpEdge®-branded corrugated box; providing added protection for knives while in 

transport and safety when handling. Boxes stack easily on store shelves. Best of all, you’ll enjoy savings of up to 10% 
when compared to buying kit pieces individually. 

1821, 1922, 2131, M15R, M18R, M18RX  
Part Number 29834-792

Qty Part Number Description

4 39233-813 10 1/2" x 5"x 5/8" DE Knives - 4 Bolt

16 22424-404 Bolts

2400, Model 18 
Part Number 29834-794

Qty Part Number Description

4 39233-692 10 1/2" x 5" 1/2" DE Knives - 4 Bolt

16 22424-404 Bolts

1621, M15RX
Part Number 29834-800

Qty Part Number Description

2 39223-813  10 1/2" x 5" x 5/8" DE Knives - 4 Bolt

8 22424-404 Bolts

1418, M12D 
Part Number 29834-804

Qty Part Number Description

4 39233-620 7 1/4" x 5" x 1/2" DE Knives - 3 Bolt

12 21451-391 Bolts

12 21733-410 Nuts

"It’s a great benefit to have everything in 
one complete kit. It eliminates downtime 
and shows that Morbark really cares about 
their customers. I have everything I need 
right there to change my knives."

Al Royer, Royer Tree Service
Dedham, MA



Bandit 1590, 1890, 18XP, 19XPC  
Part Number 29834-815

Qty Part Number Description

4 39233-758 10" x 5 1/2" x 5/8" DE Knives - 5 Bolt

20 21624-355 Bolts

20 21733-036 Nuts

Bandit 100XP, 150XP, 200XP, 250XP, 245XP, 1200 & 1250  
Part Number 29834-816

Qty Part Number Description

4 39233-766 7 7/32" x 4 1/2" x 1/2" DE Knives - 3 Bolt

12 21451-389 Bolts

12 21733-036 Nuts

Bandit 100XP, 150XP, 250XP, 254XP, 1200,  
1250 & 200XP up to Serial Number 15800 

Part Number 29834-806

Qty Part Number Description

4 39233-685 7 1/4" x 4" x 1/2" DE Knives - 3 Bolt

12 21451-367 Bolts

12 21733-035 Nuts

Bandit 990, 1090XL, 1390, 1490, 12XP, 12XPC, 15XP, 15XPC 
Part Number 29834-817

Qty Part Number Description

4 39233-460 9" x 5 1/2" x 5/8" DE Knives - 4 Bolt

16 21624-355 Bolts

16 21733-036 Nuts

Bandit 90, 90XP (& 280XP up to Serial Number 141) 
Part Number 29834-818

Qty Part Number Description

4 39233-754 5 1/8" x 4" x 1/2" DE Knives - 2 Bolt

8 21451-365 Bolts

8 21733-035 Nuts

BANDIT KNIFE KITS

Vermeer BC1800XL, 2000XL 
Part Number 29834-822

Qty Part Number Description

4 39233-588 10 1/4" x 5" x 5/8" DE Knives - 5 Bolt

20 21612-042 Bolts

Vermeer 1800, 1800a, 2000 
Part Number 29834-821

Qty Part Number Description

4 39233-758 10" x 5 1/2" x 5/8" DE Knives - 5 Bolt

20 21624-355 Bolts

Vermeer BC1000XL, BC1200XL 
Part Number 29834-810

Qty Part Number Description

2 39233-589 9" x 4 1/2" x 5/8" DE Knives - 4 Bolt

8 21612-042 Bolts

Vermeer BC1400 
Part Number 29834-814

Qty Part Number Description

2 39233-590 8" x 5" x 5/8" DE Knives - 3 Bolt

6 21612-042 Bolts

Vermeer 1250 
Part Number 29834-819

Qty Part Number Description

2 39233-636 5" x 3 1/2" x 3/8" DE Knives - 3 Bolt

6 21451-391 Bolts

6 21733-307 Nuts

VERMEER KNIFE KITS

Bandit 280XP Serial Number 141 to Current 
Part Number 29834-823

Qty Part Number Description

4 39233-765 5 3/32" x 4 1/2" x 1/2" DE Knives - 2 Bolt

8 21451-389 Bolts

8 21733-036 Nuts


